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(-42) = (+7)
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wRlE 3 5%

2 Hl A B SO )

M (-6) = (+2) 1D (=)= (+9) BV (+18)=(-2) U (-6) = (+3)
= -3 = -16 = -9 = -2

2) (—7)X(—Q) 18) (+4>+(_7) (34) <+3)_(_4> B0) (+2)><<+7)
= +63 = -3 = +7 = +14

3 (_7)+(+3) 19 (‘24)_("'8) (35) ("'3)"’(‘8) B (+24)—<+é))
= -4 - -3 - -5 = +4

@ (3= (-8) O (+48)=(-6) Y (-9)+(-6) 2 (+5)+(+5)
= -4 - -8 = -15 = +10

) (-D+(-9) PO =4 G )=+ O DX (+4)
= -16 = +3 = +9 = +28

© (-5)-(-9) @O+ (+7) G® (+3)-(-2) D (- (+7)
= +4 = +3 = +5 = -14

D (+2)+(-9) @ D+ (+7) G D% (-2 69 (_42) = (+7)
= -7 = +14 = +14 = -6

®  (+5)-(-2) @O (—4)+(-2) U0 (+8) X (+9) ©O (+3) X (-4)
= +7 - -6 = +72 = -12

@ (-9)-(-8) @ (+7)-(-9) 4D (-3)-(-5) ED (-7)+(-5)
= -1 = +16 = +2 = 12

1023y x (-4) @O (+6)+(+4) D (+9)-(+5) ©® (o7 =(-3)
= +12 = +10 = +4 = +0

D (C4)+(+6) @D (+6) X (-2) W 3+ -4) P (+16)=(-8)
= 42 = -12 - -8 = -

12(36) = (-9) ¥ (-8)x (-3) WO =) O DH(-6)
= +4 = +24 = +6 = +]

19 (+2)-(-6) @D (-5)-(-2) 4O (C0)+(+3) D (+16) = (+8)
= +8 = - = +] = +2

1D 28) = (-4) 0 (+63)=(-7) O (+48) = (+8) Y (-4)+(+9)
= -7 = -9 = +6 = +3

19 (36) = (+9)  ©V (+3)+(-5) U0 (D-(-7) 63 (~40) = (+8)
= -4 = -2 = 0 = -5

16 (—p)+(-4) G2 (+4) X (+2) WO (+15) = (-3) Y (-24) = (+6)
= -10 = +8 = - = -



